3 (Sem-2) ECO

2018

ECONOMICS
( General )

( Introductory Macroeconomics )

Full Marks : 60

Time : 3 hours
The figures in the margin indicate ﬁill marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
were A oppTyRe Tl fau

{a) Define net national product.
Wa AT TR ket |

(b)) What is meant by marginal propensity
to consume?

oNfeF Tegest e Ierce o o ?

{c) Mention one motive behind the demand
for money.

R i R e b1 S 31 |
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(2) (3)

{d) What is liquidity trap? (d) State the fundamental law of

SR T T 2 consumption as given by Keynes.
T ARERE! TerR (e Rt T
(e) State Say’s law of markets. 1
®'3 TR R T 41
3. Answer any three of the following questions :
() Draw a diagram of induced investment. . 5x3=15
Szfe Ricer aft Ba i | ot fil 2R R cpren fofabm e foan

{g) Define inflation. (a) Explain the relationship between

SR st o | national income and economic welfare.
I A AF JYAE FR TS TS
2. Answer the following questions : o2%x4=8 RURUEIN
oS f ory Ifilwm : (b) - Explain the effects of inflation on
(a) State two  difficulties in the , ‘ dlstnbutlon.
measurement of national income. , | "o ﬂ_&Pﬁﬁ\s oSE T[T 91|
FIH (FTS ﬂ’gﬁlﬂ .
I W AT A B (c) Discuss the properties of the
FIRY TS T4 | consumption function.
(b) Distinguish between autonomous and BCST! T o PR SOl 41 |
induced investments. (d) Explain the limitations of multipli
xplain the itations of multiplier
worfate REET 9% SHqafe RRamer theory.

TS 6 (YA | BT TG GRS W T |

(¢) Mention two limitations of the classical
theory of employment.

e SREIPIS SIOR o1 SRR STard 341 |

(e} Mention the limitations of the classical
theory of interest.

R FREE TFOR ACTRIPHE T 41 |
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(4)

4. Answer any three of the following questions :
10x3=30

wors il enpRd R e fofier s fim

(a) State and explain the factors which
influence the propensity to consume. 10

TorS1el ARTOR SRS TR CAITART SAMPIR
e FR R

(b) Explain Keynes’ theory of employment. 10

TR RanR sgeh T 311 |

{c) Discuss the production and income
methods for the measurement of

national income. 5+5=10
B o RER FTS Teo WE WR PR
RS S T4 | .

(d) Explain the classical theory of interest. 10
Y Ao TFH! AN I |

(e) Discuss the cost-push theory of
inflation. 10
GG TEFRIS TGO A 47 |

(7 What is investment multiplier? Explain
the relation between marginal
propensity to consume and investment
multiplier. 2+8=10
s e {2 2R Tem aee
RGNS @R T o= JTM T |

* %k X
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